1

5

6 [

IF IN DOUBT - ASK REMOVE ALL BURRS & SHARP EDGES
A
° ° ° ° ° *WARNING**
()  DESIGN LOCKED
{ UNDER CONTRACT.
‘ SALES DIRECTOR —
OR DEPUTY APPROVAL
o » ON ECP REQUIRED
BEFORE UPDATING
B
c
322 REF .
o (-] o o o
’
D
[e0}
«Q ~0
O Fe]
(@] L N
| . L
C =
leg— —
! =
E
17.0 : :
; I
| ' | -
' ‘ DETAIL D
| ! (1:1)
| ' ;
[2%4
! ' 2 F
| = )
| \ MICRO SWITCH NOT FIXED TO MECH PLATE
[ I
! NOTE; Set the switch so that the signal changes mid-way between the drawer
2975 X ! ! opening and closing.
\ Check by opening the drawer and whilst holding the base down,
gently push the lid backwards (past 90 degrees). The signal should stay on. G
SECTION C-C
| C Adjust switch if required.
Note that the drawer lifting arms should be fitted with the thicker of the two rubbing strips. |
F 24182 27/08/2015 JSM UNSPECIFIED TOLERANCES [P VEE MATERIAL: ' s Cash Bases Ltd. Tel: +44 (0)1273 616300
o — — SR s HOEPH. e | = See Part Drawings Newhaven, Fax+44 (0)1273 512010
— — — — 00 =+025 00 =1025 INDICATES DRAWN | FINISH: . : East Sussex BN9 OLA
REV | ECPNo NAME 0.00 = +0.15 0.0 =+0.0-0.09 INSPECTION | RSW See Part Drawings 7/ United Kingdom www cashbases.co.uk
PROD. ENG APPRO -CKED | DATE SIMILAR TO PROJECT MODSPEC
vie . K %u;g Q&%LELFLRE())“.\JAESCIE%I\:” @ =T DponoTscaLE | 04/06/2008 " APy TITLE DRAWING NUMBER REV
/ — T . : . - . USED ON |EST. WEIGHT| PAPER| SHEET |SCALE
No part of this drawing may be reproduced or transmitted by any form, or in any means including 9 1 762 F
6 photocopying and recording, without prior permissionlof Cash Bases Ltd. Newhaver[n East Sussex. | — 3981 -3g| A3 |1 OF2 1:4|1- FLIP LID O4 |
1 2 3 4 5 6 8 | 9 10




1 xR [ 2 [ 3 [ 4 5 6 l 7 [ 8 9 | 10

TEM NO. | yimcEr DESCRIPTION Qry. ]

] 03533 50DY FLF LD 04 (322 X 240) ] REMOVE ALL BURRS & SHARP EDGES IF IN DOUBT - ASK

FO0569 HINGE (302 Long) ]

3 FO0568 SPACER PLATE (HINGE) - 302 LG ]

4 FO0566 LID (322x240 Flip Lid 04) ]

5 FO0567 FRONT PLATE (322 Flip Lid 04) 1

6 50577 CARP NUT M3 (c-1031) 13

7 50578 CARP NUT M4 (C-1041) 6

8 50232 NUT M3 NYLOCK THIN 5

9 50236 NYLOC NUT M4 4

10 |50132 WASHER (M2) 2

1 50514 M2 SHAKEPROOF (INT) 2

12 |50133 NUT M2 FULL PLATED 2

13 [22201 LHS MECH ASSY ]

14 |22202 RH MECH ASSEMBLY ] D%A_'éf

15 [23693 HEX TRANSFER ROD ASSY 1 '
© 16 40152 LIFTING ARM 2

17 18511 RUBBING STRIP 2

18 |SEEBOM MICROSWITCH ASSEMBLY ]

19 |40374 FLIPLID-LATCH 2

20 |40474 RUBBING CAM / STOP 85 DEG 2

21 SEE BOM RPT LOCK (13mm LONG) ]

22 |40499 CAM (RPT LOCK) ]

23 60322 RPT LOCK SPACER 1

2 SPRING - EXT 89N (TRIMMED LEGS) ]

25 [39001 SPRING - EXT 89N (TRIMMED LEGS) 1

26 |FO0507 Mech Cover (LH) - 240 deep Flip Lid 04 ]

27 |50743 M3x6 PAN HEAD TORX INLEX SCREW 4

28 FO0508 Mech Cover (RH) - 240 deep Flip Lid 04 1

29 80814 MAGNET 2
©30 50405 M3 WASHER (LARGE) 2
D) 31 FO6156 SPACER PLATE 1

32 |50152 M3 PLAIN WASHER 2

*WARNING**
DESIGN LOCKED
UNDER CONTRACT.

SALES DIRECTOR
OR DEPUTY APPROVAL
ON ECP REQUIRED
BEFORE UPDATING

| GENERAL BUILD NOTES

ADD GREASE (P1.N0.80548) TO THE FOLLOWING PARTS.

MECH PLATE SPINNINGS WHICH HOLD THE PAWL & LEVER

THE NYLON STRIP FITTED TO THE LIFTING ARMS

THE ENDS OF THE SHAFT ASSY

THE LIFTING SPRING ANCHOR POINTS ON THE BODY & LIFTING ARMS

NOTE:
FOR SAFETELL ONLY - FIT "WEEE" LABEL 81997
ALONG SIDE THE SERIAL NUMBER LABEL

= 24182 27/08/2015 JSM UNSPECIFIED TOLERANCES - VEE MATERIAL: 7 Cash Bases Ltd. Tel: +44 (0)1273 616300
- = — —~ LNEAR 5 HOEDA - ANSUAR | == See Part Drawings ) Newhaven Fax+44 2031273 512010
= +0. = +0. +0. ' -
— — — 00 =025 00 =:025 INDICATES | DRAWN = | FINISH: , ;, East Sussex BN9 OLA
REV ECP No DATE TNAME 000 = 015  0.00 = +0.0/-0.09 INSPECTION RSW See Part Drawings £/ United Kingdom www.cashbases.co.uk H
PROD. ENG: APPRQVED BY: ECKED BY: DIMENSION DATE SIMILAR TO PROJECT TITLE MODSPEC | DRAWING NUMBER REV
}Z/ an M R R o £+ DONOT SCALE | 04/06/2008 - P4864
/ it A TO BS 8333 ALL DIMS IN mm USEDON |EST. WEIGHT| PAPER | SHEET |SCALE
No part of this drawing may be reproduced or transmitted by any form, or in any means including : 9 1 7 62
© photocopying and recording, without prior permission of Cash Bases Ltd. Newhaven, East Sussex. - 3981 -3Q| A3 |2 OF2 11? FL”D LID O|4 |
1 \ 2 | 3 | 4 [ 5 6 7 8 9 10




